
Math 150, Lecture Notes- Bonds  Name____________ 
    
Section 3.7 Optimization Problems 
 

 

 
 

When you take a test that covers this material, I will ask you to show 
me the following: 
 
(i) draw a diagram of the situation and label the diagram 
 
(ii) define your variables 
 
(iii) create a function 
 
(iv) use agraphing utility to graph this function over the appropriate domain 
 
(v) use calculus and algebra to prove your result- 
that is, differentiate, find critical numbers, use a 1st, or 2nd derivative test 
 
 and  
 
(vi) state your answer in a sentence, using correct units 
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